Def: For
$$S>0$$
, the gamma function is defined by
 $\Gamma(S) = \int_{0}^{\infty} e^{-t} t^{s-1} dt$. (1)

$$\frac{Romark}{S_{0}} : By definition,$$

$$S_{0}^{00} \in t_{s}^{-1} d_{s} = \lim_{t \to 0} S_{e}^{t} \in t_{s}^{s-1} d_{s}$$

$$(learly T(S) is well-defined for s > 0:$$

$$S_{e}^{t} t_{s}^{s-1} d_{s} = \frac{t_{s}^{s}}{s} \Big|_{e}^{t} \rightarrow \frac{t}{s} \text{ as } e \Rightarrow 0.$$

$$(aud \ e^{-t} \ bdd \ near \ t = 0 \ e \ rapidly \ cleary \ as \ t \Rightarrow t \infty)$$

$$\frac{Romark}{Roopl.1} \text{ The formula } T(S) = S_{0}^{0} \in t_{s}^{s-1} d_{s} \text{ extends the } t_{s}^{s-1} d_{s} \text{ extends } t_{s}^{s-1} d_{s} \text{ extends the } t_{s}^{s-1} d_{s} \text{ extends } t_{s}^{s-1} d$$

domain of definition of
$$T(S)$$
 to the open half-plane
 $JS \in \mathbb{C}: Re(S) > O'S$.

PS: It suffices to show that (1) defines a holomorphic function in $S_{\overline{5}M} = \{\delta < \operatorname{Re}(5) < M\}, \forall 0 < \overline{5} < M < \infty$.

Note that $t^{s-1} = e^{(s-1)\log t}$ is holomorphic in $s \in C$ and hence et t^{s-1} is holo. in s, and continuous \dot{M} $(t,s) \in [e, t] \times [\delta, M]$ Hence Thm 5.4 of Chz => $\forall \epsilon > 0$, $F_{\epsilon}(s) = \int_{\epsilon}^{t} e^{-t} t^{s-1} dt$ is hold, on $S_{\xi,M}$. Note also that 5< Re(s) < M $\Rightarrow |e^{-t}t^{s-1}| = e^{-t}|e^{(s-1)\log t}| = e^{-t}e^{(\Re(s)-1)\log t}$ $= \rho^{-\frac{1}{2}} t^{Re(s)-1}$ $(far \epsilon < 1) = \int_{a}^{b} |e^{-t}t^{s-1}| dt = \int_{a}^{b} e^{-t}t^{R(s)-1} dt$ $\in \left(\stackrel{\varepsilon}{e^{-t}} t \stackrel{\delta^{-1}}{dt} \leq \frac{\varepsilon^{\delta}}{\varepsilon} \right)$.: So et to convergent. (as inproper integral non o) Similarly $\int_{\pm}^{\infty} |e^{-t}t^{s-1}| dt \leq \int_{\pm}^{\infty} e^{-t}t^{M-1} dt$ < C Si e t (for some C>0) ≤ ZC p⁻≥

$$= \int_{\frac{1}{2}}^{\infty} e^{-\frac{1}{2}} t^{s-1} dt \quad is \quad abs \quad conveyent.$$
Hence $\int_{0}^{\infty} e^{\frac{1}{2}} t^{s-1} dt \quad defined a.$

$$\int_{0}^{\infty} e^{\frac{1}{2}} t^{s-1} dt - F_{E}(s) = \int_{0}^{e} e^{\frac{1}{2}} t^{s-1} dt + \int_{\frac{1}{2}}^{\infty} e^{\frac{1}{2}} t^{s-1} dt$$

$$= \int_{0}^{\infty} e^{\frac{1}{2}} t^{s-1} dt - F_{E}(s) | \leq \int_{0}^{e} e^{\frac{1}{2}} t^{B(s)-1} dt + \int_{\frac{1}{2}}^{\infty} e^{\frac{1}{2}} t^{B(s)-1} dt$$

$$\leq \frac{e^{F}}{5} + 2C e^{-\frac{1}{2}e} \Rightarrow 0 \quad as \quad e \Rightarrow 0.$$

$$: \cdot (Thur 5.2 \text{ of } Ch(2)) \quad \int_{0}^{\infty} e^{\frac{1}{2}} t^{s-1} dt \quad is \quad a \text{ unifour litting of sequence of tholo. Function on $S_{5,M}$, there is the sequence of $S_{0}^{\infty} e^{-\frac{1}{2}} t^{s-1} dt \quad is \quad a \text{ unifour litting of sequence of tholo. In $S_{5,M}$, there is $S_{0}^{\infty} e^{-\frac{1}{2}} t^{s-1} dt \quad define \quad a \quad the on \ S_{5,M} \in T_{5,N}$

$$= \int_{0}^{\infty} e^{-\frac{1}{2}} t^{s-1} dt \quad define \quad a \quad the on \ S_{0}^{\infty} e^{-\frac{1}{2}} t^{s-1} dt = T(s),$$

$$: \int_{0}^{\infty} e^{-\frac{1}{2}} t^{s-1} dt \quad is \quad the required extension.$$$$$